Matching:

1. Q Equilateral A. One angle measuring 90°

2. Q Isosceles B. All angles are less than 90°

3. é Scalene C. All sides are congruent

4. A_ Right D. One angle measuring greater than 90°
5. B Acute E. No sides in the triangle are congruent
6. i Equiangular F. All angles are congruent

1 D_ Obtuse G. Two sides of the triangle are congruent
9.

(4x +6)

.
2 (sxret) +HXTe =180
10 X+4 X*(-‘{XT(O""XD
(4t 5t =180
{L(X:I 2o
k=1

(5x + 24)°

Solve for the missing variables:
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Which of the following could be the equation of the
graph above?

A) y=x(x-2)(x+3)
@y=x2(x—2)(x+3)
C) y=x(x+2)(x-3)
D) y=x*(x+2)(x-3)



11.

Note: Figure not drawn to scale.

In the figure above, lines { and m are parallel,
y =20, and z = 60. What is the value of x ?
A) 120
)10
C) 9
D) 80

3. How does EF relate to AC?
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1. In AABC, what sthes m of the measurgs of ZA Band Eplangths is true.
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5. What isa mldsegment of a triangle?
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6. What does the Triangle Sum Theorem say?
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7. Fillin the following flowchart proof of the Triangle Sum Theorem.

Substitution mZ1+mZ2+m£3 =180 | mZA+mZ2 +mZC=180"
For || lines, alt. int. Zs= | m£1=mZ£A, m4£3 =m«C
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A C
Given: AABC
Prove: mZA+m/2+m/C=180"

9. REINFORCE The largest two angles of a triangle are four and five times g@s large as
the triangle’s smallest angle, respectively. x: (A, I e H&

a. Find the measures of all three% e triangle’s angles.

+S5A +X=

727 10X =180
b. What special type of triangieSif (t.h(li ;nEn;,\lz? Rkah t

8. REINFORCE In ACAT, mZC= (15x)°, mZA = (5x +40)°, and m£ T = (10x + 20)°. Find
the measures,of each interior angle of ACAT.

|SX+5X+40 +[DX+0=[F

10. REINFORCE In the diagram, j || I\(/FE tyh%a_l;es of x ?d y.
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11. REINFORCE The lengths of three sides of a triangle areg: 3x-4,and x +4. Finda
value of x that makes the triangle equilateral. \{4 — X y
Y- =Xt
BX-Y=X+Y X = X
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12.What is the name for two angles that have a sum of 90°?
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13.Write a conjecture about the acute angles of a nght tria &
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14.Prove your conjecture from the previous question.

Given: AQSR is a right triangle with a right
angle at Q.
Prove: ZR and ZS are complementary.

Statements
1. msQ = 90°

180°

3. q Dc +m«R + m«S = 180°
4.msR +msS = ﬂ 0

5. 4R and «£S are complementary.

Reasons
1. Given, definition of a right angle

2. Z!é j‘i@ lTheorem

3. Substitution Property

4. Subtraction Property

5. Definition of



